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Recently, people are invariably confronted with such a question(]

[1 ? There is no consensus between two parts of people. Concerning
the controversial issue, some claim that is undeniable[d [J While
others maintain thatl] [J From where | stand, | am inclined to the
view thatlJ [I Let me expound it from three aspects. Firstly, (1 [
Secondly, a fitting example can illustrates itL1 [1 Therefore, itisno
exaggeration to say that[1 [1 Apart from the two factors above, there
Is another vital aspect deserving some words hereldJ [1 Admittedly,
[ 0 However, the disadvantages of [J [J are obvious. As | have
mentioned above, [1 I Therefore, | reinforce my standpoint that [
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